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OsgE8 2AZMNLSAHBIHA)
560,000,000 * 14 560,000
Sl CHER ALY 60,000 30,000 30,000
s 18,000
s 42,000
401 AIEHIZ SR OHYI 60,000 30,000 30,000
< 18,000
Ea 42,000
01 Al&HI 60,000 30,000 30,000
Ot HAXNS MY S HE A
60,000,000 60,000
= 18,000
o 42,000
SIS EHI(LD1BHEH]) (M EALY) 200,000 430,000 /230,000
=S 180,000
s 20,000
401 AIEHIZ SR THYI 200,000 430,000 /230,000
< 180,000
[Ea 20,000
01 Al&HI 200,000 427,624 N227,624
OZIIBHEHIAS (X 2H)
200,000,000& x14] 200,000
= 180,000
= 20,000
SIS EH (=0 STHE D1 BEXI& ) (M EFAY) 530,000 800,000 /270,000
=S 477,000
s 53,000
401 Al HIZ R 0HbI 530,000 800,000 A270,000
== 477,000
[Ea 53,000
01 Al&H| 530,000 794,240 A264,240
=LA ST IBHXIZ AL (B &)
530,000,000 * 14 530,000
= 477,000
= 53,000
oA XA EHEI(Ex) 250,000 250,000
401 AIZHIX S0 250,000 250,000
01 AlZH| 250,000 250,000
O8I HMEZHISA 150,000,000 * 14 150,000
Ot HIEEHISA 100,000,000& * 14! 100,000




2A:
X XH -
o e

el

- SHRABA) - HRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

1,570,000

2,730,000

21,160,000

(XE1)

1,570,000

2,730,000

21,160,000

1,570,000

2,730,000

21,160,000

O&72 XSHEAME DIXSEXN BEd=

200,000,000 *14]

1,000,000, 0002 * 14!

90,000,000& * 14!

50,000,000 x14!

SESTY ZHIZA

150,000,000& * 14!

80,000,000& *14]

1,570,000

200,000

1,000,000

90,000

50,000

150,000

80,000

2,730,000

1,160,000

ATt

EUNGE

10,610,027
468,090
832,000

74,825
1,191,117
8,043,995

11,487,931

A877,904

&3

UMY

10,610,027
468,090
832,000

74,825
1,191,117
8,043,995

11,487,931

AB77,904

1
e
£l
Y
o
T

MW

964,694
88,500
48,642

827,552

214,910

749,784

183,436

163,264

20,172

70,0003 »7 H 22

2
2,400,000 *250H 2~

WML N S2= HH

2,000,000 %105

4003 *75+2,0000H
700,000 *4CH

89,380

980

60,000

20,000

5,600
2,800
94,056
7,6%

72,708

90,55

16,672

3,500




FAN AZUSH
Hu: NNDSHYEX
ol NSSFEAS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—get 3802 +1,000& =123 4,560
—S 2,580 1000 * 122 3,096
OAMEE HIIABE XS (A0, MSS,
LHOT S) 6,000,000& ~12& 72,000
OUISHOD UHSAIAE HEH AIZE
1,200,000& «12& 14,400
202 04l 8,160 6,960 1,200
01 =LHA LI 8,160 6,960 1,200
OREHT ALEX(ZN)
124, 0002452+ 122 7,440
OSSEANEZE 2A N3l L Al &XI(22
=4) 20,0003 x32 x 122 720
207 ARl 15,000 15,000
01 H1E4H] 15,000 15,000
ORNISAt HAISE Matd S99
15,000,000& » 14 15,000
301 EtE N = 286,098 14,686 27,412
= 4,392
o 281,706
14 0Bt 2a3 286,098 14,686 271,412
O8AIRES It =5 K&
25,0002 »40CH~ 12 12,000
< 3,600
Ea 8,400
OHAIRS It SHE X (2l FIt 463
2) 2,686,000 %14 2,686
= 792
Ea 1,8%4
Oretg NSAXY HSUS(SHA) X
el 14,8802 *380& 43| x 12 271,412
307 glztol & 442,000 0 442,000
= 88,500
s 44,250
s 309,250
09 2=FAHEXS 442,000 0 442,000
OsHEHA YA (ME HSuS M
) 86,000, 0002 =3CH 258,000
OM&HA =& X (ZHIFIH 7,008 )
92,000, 0002 +2CH 184,000
= 88,500
< 44,250
= 51,250
308 AXIHSOIA 30,000 30,000
07 HXHH2LREES 30,000 30,000




FAN AZUSH
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OTRE sHE L DEHA AT EY
20,000,000& » 14 20,000
OXDE SOEHA SHLA 2
10,000,000 * 14! 10,000
WSS AL 2t 962,827 1,002,393 A\39,566
[ 33,800
T 929,027
101 @124H| 57,826 60,193 N2,367
M ORIMZZ2NSE S 57,826 60,193 N2,367
OuA20ls2d etd2Ac|2E 57,826
—JlZ2= 84,4503 x2H *207 L 34,963
— St 2,000 28 »207 828
—=4l 4,000 x2&x207L 1,656
— =5+ 84,4503 x2&H »445= 7,432
—ReRd+H 84,4503 x2 1 1,858
— %X 90,4503 x2& 10 1,809
—SEJOHI 300,000 x2&H 600
—E&0H] 6,000 *x2& =207 2,484
—4AEE= 51,630,000 *12% 6,19
201 Ler=23| 62,000 63,000 21,000
01 At2teltl 2,000 3,000 1,000
OuAsdd g =57
2,000,000& %14 2,000
02 s3=gHl 60,000 60,000 0
OusSHdAIEE A 2 2g
A3 LAl 60,000,000 * 14! 60,000
401 Al HIZL 01| 843,001 879,200 A36,19
= 33,800
= 809,201
01 Al&H| 843,001 879,200 A36,199
O8H=2L OfAEZI| £X
5,000,000 *10JH £ 50,000
= 15,000
o 35,000
OHASHE HEFZHAILE £X
1,953,400 1500 2 29,301
& 8,800
= 20,501
OuUSHEAIZ= FHIAIE
33,300,000 x 14 33,300
= 10,000
o 23,300
OnsSdEEIE & |2 (SIHH )
24,000,000 *14| 24,000




FA AELS
Hu: MADEHHEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORSNSI| HE L SXE&(EIH)
80,000,000& » 14 80,000
OHASUY BT HI|LHIBA
1,800,000 *87H A 14,400
ORHAEA A HEAl Rl (SIHH9F)
80,000,000 *14{ 80,000
O=YURE HRA
2,500,000 *40H 2= 10,000
OErAIE ZXIAHE 800, 0003 *20H 16,000
OdlAs2d XA
13,500,000 *50H 2 67,500
OgZd wsStMIEXIE XA
2,500,000 * 107K 25,000
OHASAZ U 2HSYH SXB4 (B}
Het) 48,000,000 *14] 48,000
OXE A HIS XA 37,5002 x200H 7,500
OLEEHEIM e EXIAE
14,000,000 *2IH 2= 28,000
OADIE HASTE LXMY
50,000,000 *4JH 2 200,000
OHASZE HIIR(22)AIE XA
2,000,000 +50IH 2 100,000
O=2HXE EXA
27,2723 1,100 30,000
01210l EFSIHEAIS 700,000 0 700,000
= 360,000
Ea 350,000
401 AIEHIX 20HH 700,000 0 700,000
=S 360,000
s 350,000
01 AlZ28| 700,000 0 700,000
O0glol 2579 ALY
700,000,000& *14] 700,000
< 350,000
T 350,000
WAL SEWSHEH(FH SEA) &#F(013) 308,000 340,000 A32,000
Jl 74,825
Ea 233,175
307 el2to| & 308,000 340,000 /32,000
) 74,825
o 233,175
05 git?(& = 308,000 340,000 A32,000
OS2usS+t 23 (A=A 23
X) (28l =t 58,5838 &)
77,000,000& %42 7| 308,000
Jl 74,825




FAN AZUSH
M MR DEHEEN
ol usSetBEelsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 233,175
WAL SEWSHH(FH SHAl) &#S(=4]) 76,000 0 76,000
= 38,000
[Ea 38,000
307 212+01& 76,000 0 76,000
= 38,000
s 38,000
05 2ItRIE = 76,000 0 76,000
OSEus+t 2 (JMASHA 22
X&) 19,000,000& *4=2 7| 76,000
= 38,000
Ea 38,000
2 RIS 600,000 912,000 A312,000
307 21201 & 600,000 912,000 A312,000
00 2F=SAHEXS 600,000 912,000 A312,000
OS24 (S0EHA, HAl, HSHEX)
=) 50,000,000& «12& 600,000
EHOlE2g2 = 165,414 131,131 34,283
101 @124H| 44,894 27,211 17,683
M OIRIMZZ2NSE S 44,894 27,211 17,683
OSSHAHLIE 2tZdH| 212Y 44,894
—JlZ2= 52,8002 x2EH*183 19,325
— S| 2,00031 %2 »183! 732
—a=4tl 4,000 »2&»183 1,464
-5+ 52,8003 x2& 52 5,492
—ReRdsE 52,8003 x2& 162 1,690
—522fxg 84,8303 x2& »52&! 8,823
—Axt==E 56,5603 x2& » 12& 1,38
—SE230Hl 300,000& x2E *22] 1,200
—4ii28= 40,081, 1203 %12% 4,810
201 eer23y| 6,000 11,400 A\b5,400
01 AtR2t2|HI 6,000 11,400 25,400
SEHAHDIE sEA 257
50,0002 x1202 A 6,000
301 22N 44,400 32,400 12,000
14 JIEt2d = 44,400 32,400 12,000
OZ3EHAHLIE HEr== K&
3,700,000& 12 44,400
307 elztol & 70,120 60,120 10,000
09 2+ AHAELS 70,120 60,120 10,000
OZEHAHDIE MHEH o148l KA
3,400,0002 * 12& 40,800
OSESHAHLIE )| &g X
360,000 * 122 4,320




FAN AZUSH
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSSHAHDIE OtEES2 28] N&
1,250,000& 123 15,000
OssHAHLIE F&d)| €X XN&
10,000, 0002 1CH 10,000
Z9BIS XIE AL 59,514 37,3% 22,119
403 AXIEHHSAH=201H 59,514 37,3% 22,119
02 S 2SS0t et =& 2 €A H| 59,514 37,3% 22,119
OHAFBAIAB(BIS)RXIE=
50,014,000& * 14| 50,014
OHAFBAIAEI(BIS) =F&H| W
9,500,000 *1CH 9,500
S4HEARAN 2,964,423 2,913,733 50,690
2 340,000
= 193,585
[Ea 2,430,838
307 el2to| & 2,964,423 2,913,733 50,690
= 340,000
== 193,585
= 2,430,838
09 2+AE2LS 2,964,423 2,913,733 50,690
OZUHA BHXcd =243 (28 =016
7,000& &) 100,000,000& x12& 1,200,000
= 340,000
[Ea 860,000
OsO0lEHA HEXI (ZHI =t 56,9078 )
1,048,423,000& x14] 1,048,423
[ 193,585
T 854,838
OHATILIQZH caBaa
44,500,000& x12& 534,000
OS0EHA 8 a8y Xa
1,000& 30,000 30,000
Os0EHA 2=z Jtegel KA
50&%120,0002] 6,000
OLXN A SSHA AR 146,000
—xtgete tHHX XS
120,000, 0002 *1CH*50f% 60,000
—Z2J| HHX F2X
86,000,000 *2CH*50% 86,000
WSS 98,000 98,000 0
307 elztol & 98,000 98,000
09 2s-gAE2LS 98,000 98,000
OnEHA(MtoNS) A3
98,000,000 * 14 98,000
WESAMN2S XS 45,000 15,000 30,000
307 212+01& 15,000 15,000 0




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 15,000 15,000 0
Ozl oz a2 =
10,000,000 » 14 10,000
ONQIEAl Zetel MK 25t
5,000,000 * 14 5,000
402 D12 K20/ & 30,000 30,000
01 QI2IXHZ AN 2 (R THE) 30,000 30,000
OTMOIHAI 22ZAX AE(ThI122H) EA
A& 30,000,000& *14| 30,000
doks HEEHA 29 1,918,800 1,814,100 104,700
= 832,000
< 140,000
= 946,800
301 EtE NS 388,800 367,200 21,600
s 130,000
= 258,800
14 IIEt2 83 388,800 367,200 21,600
Ost=zeAl X2
3,600,000 «9CH* 12& 388,800
[ 130,000
o 258,800
307 212+01& 1,530,000 1,446,900 83,100
[ 702,000
= 140,000
o 688,000
0 2+=EHEXS 1,530,000 1,446,900 83,100
OB=ZHA XA (2] =Dt 126,00082)
9,807,692 x 130« 12& 1,530,000
[ 702,000
= 140,000
[Ea 688,000
FAE AL 2t 26,000 217,200 191,200
201 et 3| 6,000 7,200 1,200
01 At22t2l] 6,000 7,200 21,200
OMEFelE SAIFIE 22X AIZ2Z
10,0003 »50H 123 6,000
207 ARl 20,000 20,000
01 H1E4H] 20,000 20,000
O FXE 43 AHZA B
20,000,000 x 14 20,000
WEAANSHEHACISKIE 623,130 440,250 182,880
201 fer= 3| 8,250 8,250 0
01 At 2|l 8,250 8,250 0
OusSItExY 5,5002 *1,5000K 8,250
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FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IOt =S Al 2 117,325 118,275 A950
301 LEtE N = 117,325 118,275 A950
14 IIEt2d3 117,325 118,275 A950
OIS ATHXIA =S 2 (50H)
95,0002 *5CH*247 117,325
L8N 2HEHS AL QIHEIE XA 10,600 20,000 29,400
= 1,590
= 1,590
o 7,420
301 EtE2 N = 10,600 20,000 A\9,400
= 1,590
& 1,590
= 7,420
14 IIEt2 83 10,600 20,000 29,400
OngXlt 28HGIS MaEH QIHEIE X
el 200,000 %53 10,600
= 1,590
< 1,590
s 7,420
BAN2HIE2CIAAE 2 440 520 A80
403 MR HHMSAH=01H 440 520 280
02 B2 S0t 2 S A A 440 520 280
OHASHEDRRIAAL 28 U ST 4
uf 440,000 *14] 440
EASENE XML (HEAY) 7,800 17,084 N9,284
< 3,900
[Ea 3,900
401 Al HIZL S 0HYI 7,800 17,084 N9,284
& 3,900
= 3,900
01 Al&H| 7,800 17,084 N9,284
OHASYE SALEO L} AXI(HE)
2,600,000 *37H 2= 7,800
= 3,900
Ea 3,900
HYREGH(AL S 260,412 252,006 8,406
el 2H(AL s 205,594 191,138 14,45
lHA2IH(HE S 205,594 191,138 14,456
101 @124H| 205,594 191,138 14,456
01 &2 190,645 177,205 13,440
OAIZt2l==E 179,599
—6= 12,5312 +8E #50A[ 2k 122 60,149
—7= 11,3192 8 +50Al 2t 123 54,332




2A: Aduns
M BHSHAY|(ALDED)
CHR: CIHER9Y|(AL S (CH9: /M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
—8= 10, 1622 x5 *50A| 2t 12 30,486
—9= 9,6203 *6G+50Al 2t 12 34,632
OX Il 179,599,000 *2. 5% 4,490
OMEEY HRFA A2I22RE 6,556
—6=2 12,5313 +x2H + 17 A| 2«52 2,131
—7= 11,319R«2Z *17 Al 2++5E 1,925
—8= 10,1623 x1G*17 Al 2++5& 864
—9= 9,620 x2H 17 Al 2++5H 1,636
03 SRA(RINHL) 222 14,949 13,933 1,016
OLBAIREZH 11,324
—2453(19) 3,958
NEEEEER
21,049% 1B *1bA| 2++ 123 3,789
Fe2R2 168,395 *1H+ 1 169
-1nss(1y) 3,486
- AIZEeI 2R
18,5372 % 12 * 5] 24+ 122 3,337
gunesy 148,20021%12%124 149
—252(13) 3,880
WEEEE RS
20,6333 * 1Y *15A| 2+% 123 3,714
- FYUDRLY 165, 065211212 166
SEEEEEEL 3,625
—105=2(12) 3,625
S AIZrelag
19, 275&x 1B+ 15A| 2H+ 123 3,470
- FYIRE 154,199 *1Z 1L 155
[2ZH(AENSH) 54,818 60,868 26,050
Jl2dy(AL s 54,818 60,868 26,050
201 B2 AY| 44,898 47,028 22,130
01 A=R2teld| 44,898 47,028 22,130
OAIRIDI2Y(5Y)
198,000& *5E « 12 11,880
OZ2H(5Y) 8,000 27 H+x 9« 12& 23,328
OREI=EZ(EN) 200,000 =122 2,400
OJIEt2ZHI(Z%H) 7,290,000 7,290
202 044 3,600 6,000 A2,400
01 =ZLHOdHI 3,600 6,000 22,400
O30 (ZNH) 300,000 x 15+ 12& 3,600
203 AR F=&lH| 6,320 7,840 A1,520
03 A FRIHRFAIY| 2,000 2,500 AB00
OAIMFZ HRFEIH 2,000,000& 2,000
M RA2IHRFALI 4,320 5,340 21,020
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